# A Note on Phase Semantics for Proofs (Preliminary Report)

Mitsuhiro Okada and Ryo Takemura Department of Philosophy, Keio University, Tokyo

### 1 Introduction

One of the basic paradigms of logical studies is to show soundness and completeness of syntactic inference systems with respect to a certain model theoretic semantics. The usual setting of soundness and completeness is provided with respect to "provability". In this note we show that the same paradigm can be extended to the setting of soundness and completeness with respect to "proofs", in place of "provability", for certain logical systems. For that purpose, as a simple setting, we give phase semantic soundness and completeness, for proofs, of the implicational conjunctive fragment of intuitionistic logic (IL). We show that the phase semantic soundness and completeness argument for provability (which was presented in eg. [Okada 02) can be naturally extended to that for proofs in this setting.

Soundness and completeness of IL in phase semantics for provability are expressed as the following statement: A formula A is provable in IL if and only if A is true in any phase model  $\mathcal{M}$  for IL. In phase semantics for proofs, this statement is replaced by the form referring to not only a formula but also a proof explicitly: s is a proof of formula A if and only if s belongs to the interpretation  $A^*$  of formula A in any phase model  $\mathcal{M}$  for proofs.

Our phase semantic model construction is closely related to the computability/reducibility argument for the normalization theorem for  $\lambda$ -calculus (see [Tait 67, 75], [Girard 72], [Prawitz 71] and [Marin-Löf 75] etc.). One of the most notable differences between these approaches and ours is in the way of model construction. The computability/reducibility argument directly refers to such a syntactic notion as normalizability. (See, for example, [Barendregt 92] or [Gallier 90] etc..) This means that a specific single model (namely the syntactic canonical model) is considered in the argument. On the other hand, we give a more general model construction based on the notion of phase space, which is defined independently of such a notion as normal form or normalizability.

In this note we shall present our paradigm with a simple setting, following [Okada 96]. The domain of our models consists of untyped  $\lambda$ -terms with contexts. Logical connectives (type constructors) are defined by the type assignment rules. There is a "closure condition" of the form: if  $s \in X$  and  $s \simeq t$ , then  $t \in X$ , namely the interpretation of types should be closed under a kind of equality (for example  $\beta\eta$  equality). Then we shall show soundness and completeness for this semantics by using almost the same argument as the phase semantic argument for provability.

# $\begin{array}{cccc} \mathbf{2} \quad \mathbf{Phase} \quad \mathbf{semantics} \quad \mathbf{for} \\ \mathbf{proofs} \ \mathbf{of} \ IL_{\rightarrow \wedge} \end{array}$

In this section, we shall introduce a type assignment system for the implicational conjunctive fragment of traditional intuitionistic logic  $IL_{\rightarrow\wedge}$  and phase semantics for proofs of this system.

## 2.1 Review of the type assignment system for $IL_{\rightarrow \wedge}$

There are two ways to introduce types into  $\lambda$ calculus. One is due to [Curry 34], and the system is called type assignment system. The other is due to [Church 40], and the system is called explicitly-typed  $\lambda$ -calculus. We shall introduce a type assignment system for  $IL_{\rightarrow \wedge}$ . A type assignment system is designed on the operation of assigning a type to an untyped  $\lambda$ term. We review the basic notions following [Barendregt 92].

#### Definition 2.1.1 (Untyped $\lambda$ -terms)

Untyped  $\lambda$ -terms ( $\lambda$ -terms, for short) are defined as follows:

- Variables  $x, y, z, \ldots$  are  $\lambda$ -terms.
- If x is a variable and s is a  $\lambda$ -term, then  $\lambda x.s$  is a  $\lambda$ -term.
- If s, t are  $\lambda$ -terms, then  $E^{\rightarrow}(s, t)$ ,  $< s, t >, E_1^{\wedge}(s), E_2^{\wedge}(s)$  are  $\lambda$ -terms.

 $E^{\rightarrow}(s,t)$  is the application of s and t, and it is usually written as (st).  $E_1^{\wedge}, E_2^{\wedge}$  are projections, and they are usually written, for example, as  $\pi_1(s), \pi_2(s)$ . Our notation comes from [Troelstra 92].

We shall define substitution. With  $\alpha$ conversion, we assume that a variable does not occur free and bound in a  $\lambda$ -term.

**Definition 2.1.2 (Substitution)** For any  $\lambda$ terms s, t and a variable x, the substitution of t for the free occurrences of x in s (written s[x := t]) is defined as follows, where  $x \neq y$ :

$$\begin{split} x[x := t] &\equiv t, \\ y[x := t] &\equiv y, \\ (\lambda y.u)[x := t] &\equiv \lambda y.(u[x := t]), \\ (\lambda x.u)[x := t] &\equiv \lambda x.u, \end{split}$$

$$\begin{split} E^{\rightarrow}(u,v)[x &:= t] &\equiv E^{\rightarrow}(u[x := t], v[x := t]), \\ < u, v > [x := t] \equiv < u[x := t], v[x := t] >, \\ E^{\wedge}_i(u)[x := t] &\equiv E^{\wedge}_i(u[x := t]) \text{ for } \\ i = 1, 2. \end{split}$$

**Definition 2.1.3 (Types)** Types are defined as follows:

- Atomic types  $R, Q, \ldots, R_1, R_2, \ldots$  are types.
- If A and B are types, then  $A \to B$  and  $A \wedge B$  are also types.

Next we define the property of typability of  $\lambda$ -terms.

#### Definition 2.1.4 (Typable)

- A statement is of the form s : A with a λ-term s and a type A.
- A context is a finite set of statements such that x<sub>1</sub> : A<sub>1</sub>,..., x<sub>n</sub> : A<sub>n</sub> where all x<sub>1</sub>,..., x<sub>n</sub> are distinct variables. We write Γ, Δ, Π for any context.
- A λ-term s is typable as type A if a sequent Γ ⊢ s : A is derivable for some context Γ by the following type assignment rules.

#### Definition 2.1.5 (Type assignment rules)

• Axiom  $\Gamma, x : A \vdash x : A$ •  $\rightarrow I$  $\Gamma : x : A \vdash s : B$ 

$$\frac{\Gamma, x: A \vdash s: B}{\Gamma \vdash \lambda x.s: A \to B} \to I$$

• 
$$\rightarrow E$$
  

$$\frac{\Gamma \vdash s : A \rightarrow B \quad \Delta \vdash t : A}{\Gamma \cup \Delta \vdash E^{\rightarrow}(s, t) : B} \rightarrow E$$

 $\cup$  is the set theoretical union operator. We sometimes write  $\Gamma, \Delta$  in place of  $\Gamma \cup \Delta$ .

• 
$$\wedge I$$
  

$$\frac{\Gamma \vdash s : A \quad \Gamma \vdash t : B}{\Gamma \vdash \langle s, t \rangle : A \land B} \land I$$
•  $\wedge E_1$ 

$$\frac{\Gamma \vdash s : A \land B}{\Gamma \vdash E_1^{\land}(s) : A} \land E_1 \quad \frac{\Gamma \vdash s : A \land B}{\Gamma \vdash E_2^{\land}(s) : B} \land E_2$$

We shall introduce  $\beta\eta$  equality relation  $\simeq$ .

#### Definition 2.1.6 ( $\beta\eta$ equality relation)

• 
$$\beta$$
-rule

$$\begin{split} E^{\rightarrow}(\lambda x.s,t) &\simeq s[x:=t] \\ E_1^{\wedge}(< s,t>) &\simeq s \\ E_2^{\wedge}(< s,t>) &\simeq t \end{split}$$

• 
$$\eta$$
-rule

$$\begin{split} \lambda x. E^{\rightarrow}(s,x) &\simeq s \text{ if } x \not\in FV(s) \\ &< E_1^{\wedge}(s), E_2^{\wedge}(s) > \simeq s \end{split}$$

• Congruence rules

$$\begin{array}{ll} \displaystyle \frac{s \simeq t}{E^{\rightarrow}(u,s) \simeq E^{\rightarrow}(u,t)} & \displaystyle \frac{s \simeq t}{E^{\rightarrow}(s,u) \simeq E^{\rightarrow}(t,u)} \\ \displaystyle \frac{s \simeq t}{< u,s > \simeq < u,t >} & \displaystyle \frac{s \simeq t}{< s,u > \simeq < t,u >} \\ \displaystyle \frac{s \simeq t}{E_1^{\wedge}(s) \simeq E_1^{\wedge}(t)} & \displaystyle \frac{s \simeq t}{E_2^{\wedge}(s) \simeq E_2^{\wedge}(t)} \end{array}$$

• *ξ*-rule

$$\frac{s \simeq t}{\lambda x.s \simeq \lambda x.t}$$

• Reflection rule • Symmetry rule

$$\simeq s \qquad \qquad \frac{s \simeq t}{t \simeq s}$$

 $s\simeq s$  • Transitivity rule

$$\frac{s\simeq t\quad t\simeq u}{s\simeq u}$$

- A redex is a  $\lambda$ -term of the form  $E^{\rightarrow}(\lambda x.s,t)$  or  $E_i^{\wedge}(\langle s,t \rangle)$  for i = 1, 2.
- A  $\lambda$ -term s is in **normal form**, if s contains no redex.

# 2.2 Phase semantics for proofs of $IL_{\rightarrow \wedge}$

In this subsection, we shall introduce phase semantics for proofs of the implicational conjunctive fragment. Operations  $\rightarrow$  and  $\wedge$  are introduced in a manner similar to those operations in phase semantics for provability, namely based on the  $\rightarrow$  elimination rule and the set theoretical intersection operator.

The domain of our models consists of untyped  $\lambda$ -terms with contexts. The reason why we need not only  $\lambda$ -terms but also contexts shall be stated as Remark 3.3.1 in the end of the proof of the completeness theorem.

**Definition 2.2.1 (Phase model)** A phase model is  $(\mathcal{M}, \mathcal{P}, *)$  such that:

- $\mathcal{M}$  is a set.
- *P* = {(M⊳s)|M ⊆ M and s is an untyped λ-term }. We sometimes call this set the domain of labeled λ-terms.
- There are some operations for any  $\alpha, \beta \subseteq \mathcal{P}$  defined as follows:

$$\begin{aligned} -\alpha &\to \beta &= \{(M \rhd s) | (M \cup N \rhd E^{\rightarrow}(s,t)) \in \beta \text{ for any } (N \rhd t) \in \alpha \}, \\ -E_i^{\wedge}(\alpha) &= \{(M \rhd s) | (M \rhd E_i^{\wedge}(s)) \in \alpha \} \\ \text{ for } i = 1, 2, \\ -\alpha \wedge \beta &= E_1^{\wedge}(\alpha) \cap E_2^{\wedge}(\beta). \end{aligned}$$

• c is a closure operator from the power set of  $\mathcal{P}$  to the power set of  $\mathcal{P}$  such that:

- if  $s \in \alpha^c$  and  $s \simeq t$ , then  $t \in \alpha^c$ .

- Further we assume that  $\alpha^c$  satisfies the monotonicity property, namely if  $(M \triangleright s) \in \alpha^c$  and  $M \subseteq N$  then  $(N \triangleright s) \in \alpha^c$ .
- $\alpha \subseteq \mathcal{P}$  is called closed if  $\alpha = \beta^c$  for some  $\beta \subseteq \mathcal{P}$ .
- We call  $(\mathcal{M}, \mathcal{P})$  phase space.
- \* is an interpretation function such that:

 $-R^* = \alpha$  for some closed set  $\alpha$ ,

$$- (A \to B)^* = A^* \to B^*,$$
$$- (A \land B)^* = A^* \land B^*.$$

**Lemma 2.2.1** For any  $\alpha$  and  $\beta$ ,  $\alpha \rightarrow \beta^c$  and  $\alpha^c \wedge \beta^c$  are closed, namely:

 $\begin{array}{l} \text{if } (M \rhd s) \in \alpha \to \beta^c \text{ and } s \simeq t, \text{ then } (M \rhd t) \in \\ \alpha \to \beta^c; \text{ and if } (M \rhd s) \in \alpha^c \land \beta^c \text{ and } s \simeq t, \\ \text{then } (M \rhd t) \in \alpha^c \land \beta^c. \end{array}$ 

**Proof:** Assume  $(M \triangleright s) \in \alpha \to \beta^c$  and  $s \simeq t$ , then we have  $(M \cup N \triangleright E^{\to}(s, u)) \in \beta^c$  for any  $(N \triangleright u) \in \alpha$ . Since  $\beta^c$  is closed and we have  $E^{\to}(s, u) \simeq E^{\to}(t, u)$  from the hypothesis  $s \simeq t$ , we have  $(M \cup N \triangleright E^{\to}(t, u)) \in \beta^c$  for any  $(N \triangleright u) \in \alpha$ . Hence  $(M \triangleright t) \in \alpha \to \beta^c$ .

Let  $(M \triangleright s) \in \alpha^c \land \beta^c$ , namely  $(M \triangleright E_1^{\land}(s)) \in \alpha^c$  and  $(M \triangleright E_2^{\land}(s)) \in \beta^c$ . From the hypothesis  $s \simeq t$ , we have  $E_1^{\land}(s) \simeq E_1^{\land}(t)$  and  $E_2^{\land}(s) \simeq E_2^{\land}(t)$ . Since  $\alpha^c$  and  $\beta^c$  are closed, we have  $(M \triangleright E_1^{\land}(t)) \in \alpha^c$  and  $(M \triangleright E_2^{\land}(t)) \in \beta^c$ , namely  $(M \triangleright t) \in \alpha^c \land \beta^c$ .

From this lemma and the definition of the interpretation function, any interpretation  $A^*$  of type A is closed.

## 3 Soundness and completeness of $IL_{\rightarrow \wedge}$

In this section, we shall prove the soundness theorem and the completeness theorem. Our argument below is essentially an extension of the completeness argument of phase semantics for provability in [Okada 96,99,02].

We shall also prove the normal form theorem for  $IL_{\rightarrow\wedge}$  with the following form: *if a*  $\lambda$ -*term s is typable, then there is a*  $\lambda$ -*term t in normal form such that*  $s \simeq_{\beta\eta} t$ . This theorem is obtained from the soundness theorem and the completeness theorem.

#### 3.1 Soundness theorem

We shall show the soundness theorem.

#### Theorem 3.1.1 (Soundness theorem) If

 $\begin{aligned} x_1 &: A_1, \dots, x_k :: A_k \vdash s : B, \text{ then, for any} \\ phase \ model \ (\mathcal{M}, \mathcal{P}, *), \ (\bigcup_{1 \leq i \leq k} M_i \rhd s[x_1 := s_1, \dots, x_k := s_k]) \in B^* \text{ for any } (M_i \rhd s_i) \in A_i^*. \end{aligned}$ 

**Proof:** We shall prove this theorem by induction on the construction of derivation for  $x_1 : A_1, \ldots, x_k : A_k \vdash s : B$ . We shall abbreviate  $x_1 : A_1, \ldots, x_k : A_k$  as  $\Gamma$  and  $y_1 : B_1, \ldots, y_l : B_l$  as  $\Delta$ . We shall also abbreviate  $\bigcup_{1 \leq i \leq k} M_i$  as  $\bigcup M_k$  if  $1 \leq i \leq k$  is clear from the context.

1. When  $\Gamma, x : A \vdash x : A$ .

We should show  $(\bigcup M_k \cup M \triangleright x[x_1 := s_1, \ldots, x_k := s_k, x := t]) \in A^*$  for any  $(M \triangleright t) \in A^*$  and for any  $(M_i \triangleright s_i) \in A_i^*$ , but this is obvious from the monotonicity condition.

2. When 
$$\frac{\Gamma, x : A \vdash s : B}{\Gamma \vdash \lambda x.s : A \to B} \to I.$$

From the induction hypothesis, we have  $(\bigcup M_k \cup N \triangleright s[x_1 := s_1, \dots, x_k := s_k, x := t]) \in B^* \text{ for any } (M_i \triangleright s_i) \in A_i^*, (N \triangleright t) \in A^*. \text{ Because } B^* \text{ is closed and } s[x_1 := s_1, \dots, x_k := s_k, x := t] \simeq E^{\rightarrow}(\lambda x.s, t)[x_1 := s_1, \dots, x_k := s_k], \text{ we have } (\bigcup M_k \cup N \triangleright E^{\rightarrow}(\lambda x.s, t)[x_1 := s_1, \dots, x_k := s_k]) \in B^*, \text{ for any } (M_i \triangleright s_i) \in A_i^*, (N \triangleright t) \in A^*, \text{ this means } (\bigcup M_k \triangleright \lambda x.s[x_1 := s_1, \dots, x_k := s_k]) \in A^* \to B^*, \text{ for any } (M_i \triangleright s_i) \in A_i^* \text{ for any } (M_i \triangleright s_i) \in A_i^* \text{ for the definition of } \rightarrow.$ 

3. When 
$$\frac{\Gamma \vdash s : A \to B \ \Delta \vdash t : A}{\Gamma \cup \Delta \vdash E^{\to}(s,t) : B} \to E.$$

From the induction hypothesis, we have  $(\bigcup M_k \triangleright s[x_1 := s_1, \ldots, x_k := s_k]) \in (A \rightarrow B)^*$  for any  $(M_i \triangleright s_i) \in A_i^*$ , and  $(\bigcup N_l \triangleright t[y_1 := t_1, \ldots, y_l := t_l]) \in A^*$  for any  $(N_j \triangleright t_j)$   $t_j) \in B_j^*$ . Hence it is immediate, from the definition of  $\rightarrow$ , that  $(\bigcup M_k \cup \bigcup N_l \triangleright E^{\rightarrow}(s,t)[x_1 := s_1, \dots, x_k := s_k, y_1 := t_1, \dots, y_l := t_l]) \in B^*$ .

4. When 
$$\frac{\Gamma \vdash s : A \quad \Gamma \vdash t : B}{\Gamma \vdash \langle s, t \rangle : A \land B} \land I$$
.

From the induction hypothesis, we have  $(\bigcup M_k \triangleright s[x_1 := s_1, \dots, x_k := s_k]) \in A^*$ and  $(\bigcup M_k \triangleright t[x_1 := s_1, \dots, x_k := s_k]) \in$   $B^*$  for any  $(M_i \triangleright s_i) \in A_i^*$ . Since  $s[x_1 := s_1, \dots, x_k := s_k] \cong E_1^{\wedge}(\langle s, t \rangle)[x_1 := s_1, \dots, x_k := s_k]$  and  $t[x_1 := s_1, \dots, x_k := s_k] \cong E_2^{\wedge}(\langle s, t \rangle)[x_1 := s_1, \dots, x_k := s_k]$ , and since  $A^*, B^*$  are closed, we have  $E_1^{\wedge}(\langle s, t \rangle)[x_1 := s_1, \dots, x_k := s_k] \in$   $A^*$  and  $E_2^{\wedge}(\langle s, t \rangle)[x_1 := s_1, \dots, x_k := s_k] \in$   $A^*$  and  $E_2^{\wedge}(\langle s, t \rangle)[x_1 := s_1, \dots, x_k := s_k] \in$  $A^* \wedge B^*$ .

5. When 
$$\frac{\Gamma \vdash s : A \land B}{\Gamma \vdash E_1^{\land}(s) : A} \land E_1$$
.

From the induction hypothesis, we have  $(\bigcup M_k \triangleright s[x_1 := s_1, \ldots, x_k := s_k]) \in A^* \land B^*$  for any  $(M_i \triangleright s_i) \in A^*_i$ . From the definition, we have  $(\bigcup M_k \triangleright E^{\land}_1(s)[x_1 := s_1, \ldots, x_k := s_k]) \in A^*$ .

6. When 
$$\frac{\Gamma \vdash s : A \land B}{\Gamma \vdash E_2^{\land}(s) : B} \land E_2$$
.

From the induction hypothesis, we have  $(\bigcup M_k \triangleright s[x_1 := s_1, \ldots, x_k := s_k]) \in A^* \land B^*$  for any  $(M_i \triangleright s_i) \in A^*_i$ . From the definition, we have  $(\bigcup M_k \triangleright E^{\land}_2(s)[x_1 := s_1, \ldots, x_k := s_k]) \in B^*$ .

3.2 Completeness theorem

In this subsection, we shall prove the completeness theorem. Here we consider "completeness" of the form  $(\Gamma, x : A \triangleright x) \in A^* \subseteq \llbracket A \rrbracket$  for any  $\Gamma$  with  $x : A \notin \Gamma$  and for any A, where  $A^*$  is the interpretation of A in the canonical model called the inner-value of A and [A] is a certain set in the canonical model called the outervalue of A in [Okada 96]. Note that Girard's original version of the completeness theorem is of the form  $A^* = \llbracket A \rrbracket$  in [Girard 87], where  $\llbracket A \rrbracket = \{ \Gamma | \Gamma \vdash A \text{ is provable} \}.$  <sup>1</sup> However, this original form of the completeness theorem does not imply the proof normalization theorem. Okada introduced, with respect to phase semantics for provability, the completeness theorem of the form  $A \in A^* \subseteq \llbracket A \rrbracket$ , where  $\llbracket A \rrbracket =$  $\{\Gamma | \Gamma \vdash A \text{ is provable without cut-rule }\}, \text{ then }$ he proved the cut-elimination theorem via soundness and completeness. See [Okada 96,99,02]. In order to prove the normal form theorem, we shall apply this technique to our phase semantics for proofs.

We construct a canonical model  $(\mathcal{M}, \mathcal{P}, *)$  as follows:

- $\mathcal{M}$  is the set of statements of the form x: A for any variable term x and any type A.
- $\mathcal{P} = \{(\Gamma \triangleright s) | \Gamma \subseteq \mathcal{M} \text{ and } s \text{ is an untyped}$  $\lambda$ -term  $\}.$
- On this set, we shall consider the following outer-values:
  - $[A]_T = \{(\Gamma \triangleright s) | s \simeq t \text{ for some } t \text{ such }$ that  $\Gamma \vdash t : A\},$
  - $\llbracket A \rrbracket_W = \{ (\Gamma \rhd s) | s \simeq t \text{ for some } t \text{ in }$ normal form such that  $\Gamma \vdash t : A \}.$
- We shall write simply [A] without the subscription, when the definition or the property to be shown holds for both cases.
- Then we shall define an interpretation function as  $R^* = [\![R]\!]$ .

According to the definition of outer-values, there are two canonical models, namely  $(\mathcal{M}, \mathcal{P}, *)$  with the interpretation  $R^* = \llbracket R \rrbracket_T$ and with the interpretation  $R^* = \llbracket R \rrbracket_W$ . We

 $<sup>^{1}</sup>$  Girard considered in one-sided sequent calculus.

call the later the canonical model for the normal form theorem.

The above construction indeed produce phase models.

**Lemma 3.2.1** These models satisfy the definition of phase model.

In order to show this lemma, it is only necessary to prove the following two facts:  $A^*$  is closed for any A; and if  $(\Gamma \triangleright s) \in A^*$  and  $\Gamma \subseteq \Delta$ , then  $(\Delta \triangleright s) \in A^*$ .

•  $A^*$  is closed for any A.

**Proof:** We shall prove this fact by induction on the complexity of *A*.

- 1. When  $A \equiv R$ . Since  $R^* = \llbracket R \rrbracket$ , we shall show that  $(\Gamma \rhd s) \in \llbracket R \rrbracket$  and  $s \simeq t$ , then  $(\Gamma \rhd t) \in \llbracket R \rrbracket$ . Let  $(\Gamma \rhd s) \in \llbracket R \rrbracket$  and  $s \simeq t$ , then we have  $s \simeq u$  for some u (in normal form) such that  $\Gamma \vdash u : R$ . Hence we have  $t \simeq s \simeq u$  for some u (in normal form) such that  $\Gamma \vdash u : R$ . Hence  $(\Gamma \rhd t) \in \llbracket R \rrbracket = R^*$ .
- 2. When  $A \equiv B \to C$ .

Since  $C^*$  is closed from the induction hypothesis,  $B^* \to C^*$  is closed from the lemma 2.2.1.

3. When  $A \equiv B \wedge C$ .

Since  $B^*$  and  $C^*$  are closed from the induction hypothesis,  $B^* \wedge C^*$  is closed from the lemma 2.2.1.

• If  $(\Gamma \triangleright s) \in A^*$  and  $\Gamma \subseteq \Delta$ , then  $(\Delta \triangleright s) \in A^*$ .

We shall show this fact by induction on the complexity of A.

1. When  $A \equiv R$ .

Let  $(\Gamma \rhd s) \in R^* = \llbracket R \rrbracket$ . Then we have  $s \simeq v$  for some v (in normal form) such that  $\Gamma \vdash v : R$ . From  $\Gamma \subseteq \Delta$ , we also have  $s \simeq v$  for some v (in normal form) such that  $\Delta \vdash v : R$ , namely  $(\Delta \rhd s) \in \llbracket R \rrbracket = R^*$ .

2. When  $A \equiv B \rightarrow C$ .

Let  $(\Gamma \rhd s) \in B^* \to C^*$ , namely  $(\Gamma \cup \Pi \rhd E^{\to}(s,t)) \in C^*$  for any  $(\Pi \rhd t) \in B^*$ . From the induction hypothesis for  $C^*$ , we have  $(\Gamma \cup \Pi \cup \Delta \rhd E^{\to}(s,t)) \in C^*$  for any  $(\Pi \rhd t) \in B^*$  and for any  $\Delta$  such that  $\Gamma \subseteq \Delta$ . Hence we have  $(\Gamma \cup \Delta \rhd s) \in B^* \to C^*$ . Since  $\Gamma \subseteq \Delta$ , we have  $(\Delta \rhd s) \in B^* \to C^*$ .

3. When  $A \equiv B \wedge C$ .

Let  $(\Gamma \rhd s) \in B^* \land C^*$ , namely  $(\Gamma \rhd E_1^{\land}(s)) \in B^*$  and  $(\Gamma \rhd E_2^{\land}(s)) \in C^*$ . From the induction hypothesis for  $B^*$  and  $C^*$ , we have  $(\Delta \rhd E_1^{\land}(s)) \in B^*$  and  $(\Delta \rhd E_2^{\land}(s)) \in C^*$  for any  $\Delta$  such that  $\Gamma \subseteq \Delta$ . Hence, from the definition, we have  $(\Delta \rhd s) \in B^* \land C^*$ .

Therefore each  $(\mathcal{P}, \mathcal{M}, *)$  is a phase model.

In order to express the completeness theorem, we shall introduce some notations.

We

introduce a meta expression  $E(s_0 \dots s_n s_{n+1})$ , which roughly means a  $\lambda$ -term obtained from  $s_0$  by repeated elimination rules.

#### Definition 3.2.1

 $E(s_0)$  means a  $\lambda$ -term  $s_0$ ;  $E(s_0 \dots s_{n+1})$  means  $E^{\rightarrow}(E(s_0 \dots s_n), s_{n+1})$  or  $E_i^{\wedge}(E(s_0 \dots s_k))$  for some  $k \leq n$ , for i = 1, 2.

We also introduce a meta expression for the corresponding type  $E(A_0 \dots A_n)$  of  $E(s_0 \dots s_n)$ , if  $s_i$  has type  $A_i$  for each i.

Note that if  $E(s_0 \dots s_n)$  is given as a con-

crete  $\lambda$ -term, then we can find the corresponding type  $E(A_1 \dots A_n A_0)$  as a concrete type.<sup>2</sup>

#### Theorem 3.2.1 (Completeness theorem) $(\Gamma, x : A \triangleright x) \in A^* \subseteq \llbracket A \rrbracket$ for any $\Gamma$ with

 $(1, x : A \not\subset x) \in A \subseteq [A]$  for any 1  $(x : A \notin \Gamma \text{ and for any } A.$ 

**Proof:** We show the conjunction of the following two facts by induction on the complexity of A.

- If for any  $(\Gamma_i \triangleright s_i) \in \llbracket B_i \rrbracket$  for each  $0 \leq i \leq n$ , then  $(\bigcup \Gamma_n, \Gamma, x : E(B_1 \dots B_n A) \triangleright E(xs_1 \dots s_n)) \in A^*$  for any  $A, B_i$  and for any  $\Gamma$  with  $x : E(B_1 \dots B_n A) \notin \Gamma \cup \bigcup \Gamma_n$ .
- $A^* \subseteq \llbracket A \rrbracket$ .

In particular, we have  $(\Gamma, x : A \triangleright x) \in A^*$ from the above fact when n = 0.

1. When  $A \equiv R$ . Since  $R^* = \llbracket R \rrbracket$ , we show  $(\bigcup \Gamma_n, \Gamma, x : E(B_1 \dots B_n R) \triangleright E(xs_1 \dots s_n)) \in \llbracket R \rrbracket$ .

From the hypothesis  $(\Gamma_i \triangleright s_i) \in \llbracket B_i \rrbracket$ , there is a  $\lambda$ -term  $v_i$  (in normal form) such that  $v_i \simeq s_i$  and  $\Gamma_i \vdash v_i : B_i$  for each i. From congruence rules, we have  $E(xs_1 \dots s_n) \simeq$  $E(xv_1 \dots v_n)$ , and we can find the corresponding type  $E(B_1 \dots B_n R)$ . Then from the axiom  $\Gamma, x : E(B_1 \dots B_n R) \vdash$  $x : E(B_1 \dots B_n R)$ , we obtain  $\bigcup \Gamma_n, \Gamma, x :$  $E(B_1 \dots B_n R) \vdash E(xv_1 \dots v_n) : R$  by repeated applications of elimination rules of the following forms:

we can find the corresponding type  $E(B_1B_2B_3B_4R)$ as a concrete type.

From  $E_1^{\wedge}(E_2^{\wedge}(E^{\rightarrow}(E^{\rightarrow}(x,s_1),s_2))),$  $E(B_1B_2B_3B_4R)$  is  $E(B_1B_2B_3(R \wedge B_4)).$ 

Then from  $E_2^{\wedge}(E^{\rightarrow}(E^{\rightarrow}(x,s_1),s_2))$ ,  $E(B_1B_2B_3(R \wedge B_4))$  is  $E(B_1B_2(B_3 \wedge (R \wedge B_4)))$ .

Then from  $E^{\rightarrow}(E^{\rightarrow}(x, s_1), s_2), E(B_1B_2(B_3 \land (R \land B_4)))$ is  $E(B_1(B_2 \rightarrow (B_3 \land (R \land B_4)))).$ Then from  $E^{\rightarrow}(x, s_1), E(B_1(B_2 \rightarrow (B_3 \land (R \land B_4))))$ 

is 
$$B_1 \to (B_2 \to (B_3 \land (R \land B_4))).$$

$$\frac{\bigcup \Gamma_{i}, \Gamma, x: E(\overrightarrow{B_{n}}R) \vdash E(x\overrightarrow{v_{i}}): B_{i+1} \to E(B_{i+2} \dots B_{n}R)}{\prod_{i+1} \Gamma_{i+1} + v_{i+1}: B_{i+1}} \to E$$

or

$$\frac{\bigcup \Gamma_{i}, \Gamma, x : E(\overrightarrow{B_{n}}R) \vdash E(x\overrightarrow{v_{i}}) : E(B_{i+2} \dots B_{n}R) \land B_{i+1}}{\bigcup \Gamma_{i+1}, \Gamma, x : E(\overrightarrow{B_{n}}R) \vdash E_{1}^{\land}(E(x\overrightarrow{v_{i}})) : E(B_{i+2} \dots B_{n}R)} \land E1$$

or

$$\bigcup \Gamma_{i}, \Gamma, x : E(\overrightarrow{B_{n}}R) \vdash E(x\overrightarrow{v_{i}}) : B_{i+1} \land E(B_{i+2} \dots B_{n}R) \\
\bigcup \Gamma_{i+1}, \Gamma, x : E(\overrightarrow{B_{n}}R) \vdash E_{2}^{\land}(E(x\overrightarrow{v_{i}})) : E(B_{i+2} \dots B_{n}R)$$

$$\wedge E2$$

3

### For $\llbracket \ \rrbracket_T$ : since we have $E(xs_1...s_n) \simeq E(xv_1...v_n)$ and $\bigcup \Gamma_n, \Gamma, x : E(B_1...B_nR) \vdash$ $E(xv_1...v_n) : R$ , we have $(\bigcup \Gamma_n, \Gamma, x :$ $E(B_1...B_nR) \triangleright E(xs_1...s_n)) \in \llbracket R \rrbracket_T$ .

For  $\llbracket \ \rrbracket_W$ :

since  $v_i$  is in normal form for each  $i, E(xv_1 \dots v_n)$  is also in normal form. Hence we have  $(\bigcup \Gamma_n, \Gamma, x : E(B_1 \dots B_n R) \triangleright E(xs_1 \dots s_n)) \in \llbracket R \rrbracket_W$ .

 $R^* \subseteq [\![R]\!]$  is obvious from the definition.

2. When  $A \equiv B \to C$ . We show  $(\bigcup \Gamma_n, \Gamma, x : E(B_1 \dots B_n(B \to C)) \triangleright E(xs_1 \dots s_n)) \in B^* \to C^*$ . Since  $x : E(B_1 \dots B_n(B \to C))$  is  $x : E(B_1 \dots B_nBC)$ , we show  $(\bigcup \Gamma_n, \Delta, \Gamma, x : E(B_1 \dots B_nBC) \triangleright E^{\to}(E(xs_1 \dots s_n), t) \in C^*$  for any  $(\Delta \triangleright t) \in B^*$ . This is true, since  $E^{\to}(E(xs_1 \dots s_n), t)$  is  $E(xs_1 \dots s_n t)$  and we can apply the induction hypothesis for

 $^3$  For example,

| $,x:E(B_1B_2B_3B_4R)\vdash x:B_1\rightarrow (B_2\rightarrow (B_3\wedge (R\wedge B_4))) \Gamma_1\vdash v_1:B_1$          |                         |
|---|-------------------------|
| $\Gamma_1, \Gamma, x : E(B_1 B_2 B_3 B_4 R) \vdash E^{\rightarrow}(x, v_1) : B_2 \rightarrow (B_3 \land (R \land B_4))$ | $\Gamma_2 \vdash v_2$ : |

| $\Gamma, x: E(B_1B_2B_3B_4R) \vdash E^{\rightarrow}(x, v_1): B_2 \rightarrow (B_3 \land (R \land B_4))$   | $\Gamma_2 \vdash v_2 : B_2$ |
|---|-----------------------------|
| $\bigcup \Gamma_2, \Gamma, x: E(B_1B_2B_3B_4R) \vdash E^{\rightarrow}(E^{\rightarrow}(x, v_1), v_2): B_3 \land (R + E^{\rightarrow}(x, v_1), v_2) = B_3 \land (R + E^{\rightarrow}(x, v_1), v_3) = B_3 \land$ | $\land B_4)$                |
| $\bigcup \Gamma_3, \Gamma, x: E(B_1B_2B_3B_4R) \vdash E_2^{\wedge}(E^{\rightarrow}(E^{\rightarrow}(x,v_1),v_2)): R = 0$   | $\wedge B_4$                |
| $ \Gamma_4, \Gamma, x : E(B_1 B_2 B_3 B_4 R) \vdash E_1^{\wedge}(E_2^{\wedge}(E^{\rightarrow}(E^{\rightarrow}(x, v_1), v_2)) $  | ) : R                       |

<sup>&</sup>lt;sup>2</sup> If  $E(s_0 \dots s_n)$  is given as a concrete  $\lambda$ -term, for example,  $E_1^{\wedge}(E_2^{\wedge}(E^{\rightarrow}(E^{\rightarrow}(x,s_1),s_2)))$ , then

B and C.

Next, we shall prove  $B^* \to C^* \subseteq \llbracket B \to C \rrbracket$ .

Let  $(\Gamma \triangleright s) \in B^* \to C^*$ , namely  $(\Gamma \cup \Delta \triangleright E^{\to}(s,t)) \in C^*$  for any  $(\Delta \triangleright t) \in B^*$ . In particular, using the induction hypothesis and the above fact, we can take  $(x : B \triangleright x) \in B^*$  and then we have  $(\Gamma \cup \{x : B\} \triangleright E^{\to}(s,t)) \in C^* \subseteq \llbracket C \rrbracket$  for  $x : B \notin \Gamma$ , namely  $x \notin FV(s)$ .

Hence we have  $E^{\rightarrow}(s,x) \simeq v$  for some v(in normal form) such that  $\Gamma, x : B \vdash v$  : C. Then from  $\xi$  rule, we have  $\lambda x. E^{\rightarrow}(s,x) \simeq \lambda x. v$ . Since  $x \notin FV(s)$ , we have  $\lambda x. E^{\rightarrow}(s,x) \simeq s$  from the  $\eta$  rule. Hence we have  $s \simeq \lambda x. v$ .

Furthermore, we have the following derivation:

$$\frac{\Gamma, x: B \vdash v: C}{\Gamma \vdash \lambda x. v: B \to C} \to I.$$

For  $\llbracket \ \rrbracket_T$ : therefore  $(\Gamma \rhd s) \in \llbracket B \to C \rrbracket_T$ .

For  $[\![]_W\!]$ :

since v is in normal form,  $\lambda x.v$  is also in normal form. Hence  $(\Gamma \triangleright s) \in \llbracket B \to C \rrbracket_W$ .

3. When  $A \equiv B \wedge C$ . We show  $((\bigcup \Gamma_n, \Gamma, x : E(B_1 \dots B_n(B \wedge C))) \triangleright E(xs_1 \dots s_n)) \in B^* \wedge C^*$ .

There are two cases:

• If  $E(xs_1...s_n)$  is  $E_1^{\wedge}(E(xs_1...s_{n-1}))$ , then  $E(B_1...B_n(B \wedge C))$  is  $E(B_1...B_nCB)$ . Hence from the induction hypothesis for B, we have  $(\bigcup \Gamma_n, \Gamma, x :$  $E(B_1...B_n(B \wedge C)) \triangleright E(xs_1...s_n)) \in B^*$ . • If  $E(xs_1...s_n)$  is  $E_2^{\wedge}(E(xs_1...s_{n-1}))$ , then  $E(B_1...B_n(B \wedge C))$  is  $E(B_1...B_nBC)$ . Hence from the induction hypothesis for C, we have  $(\bigcup \Gamma_n, \Gamma, x :$  $E(B_1...B_n(B \wedge C)) \triangleright E(xs_1...s_n)) \in C^*$ . Therefore, we have  $(\bigcup \Gamma_n, \Gamma, x : E(B_1 \dots B_n(B \wedge C)) \triangleright E(xs_1 \dots s_n)) \in B^* \wedge C^*.$ 

We show  $B^* \wedge C^* \subseteq \llbracket B \wedge C \rrbracket$ .

Let  $(\Gamma \rhd s) \in B^* \land C^*$ , namely  $(\Gamma \rhd E_1^{\land}(s)) \in B^*$  and  $(\Gamma \rhd E_2^{\land}(s)) \in C^*$ . We have  $(\Gamma \rhd E_1^{\land}(s)) \in [\![B]\!]$  and  $(\Gamma \rhd E_2^{\land}(s)) \in [\![C]\!]$  from the induction hypothesis  $B^* \subseteq [\![C]\!]$  and  $C^* \subseteq [\![C]\!]$ .

Hence we have  $E_1^{\wedge}(s) \simeq u$  for some u (in normal form) such that  $\Gamma \vdash u : B$ , and we have  $E_2^{\wedge}(s) \simeq v$  for some v (in normal form) such that  $\Gamma \vdash v : C$ . From the congruence rule and the  $\eta$ -rule, we have  $s \simeq \langle E_1^{\wedge}(s), E_2^{\wedge}(s) \rangle \simeq \langle u, v \rangle$ , and  $s \simeq \langle u, v \rangle$ .

Furthermore, we have the following derivation:

$$\frac{\Gamma \vdash u: B \quad \Gamma \vdash v: C}{\Gamma \vdash < u, v >: B \wedge C} \ \wedge I$$

For  $\llbracket \ \rrbracket_T$ :

there fore  $(\Gamma \triangleright s) \in \llbracket B \land C \rrbracket_T$ .

For  $\llbracket \ \rrbracket_W$ :

since u and v are in normal form,  $\langle u, v \rangle$ is also in normal form. Hence  $(\Gamma \triangleright s) \in [\![B \land C]\!]_W$ .

## 3.3 Normal form theorem with respect to $\simeq_{\beta\eta}$ for $IL_{\rightarrow\wedge}$

We show the normal form theorem of the following form:

#### Theorem 3.3.1 (Normal form theorem)

If a  $\lambda$ -term s is typable, then there is a  $\lambda$ -term t in normal form such that  $s \simeq_{\beta\eta} t$ .

**Proof:** Let  $x_1 : A_1, \ldots, x_k : A_k \vdash s : B$ be derivable, then from the soundness theorem, for any interpretation  $*, (\bigcup_{1 \le i \le k} M_i \rhd s[x_1 := s_1, \ldots, x_k := s_k]) \in B^*$  for any  $(M_i \rhd s_i) \in A_i^*$ . In particular,  $(\bigcup_{1 \le i \le k} \Gamma_i \rhd s[x_1 :=$ 

<sup>&</sup>lt;sup>4</sup> Here note that we need the condition  $x : B \notin FV(s)$  for the  $\eta$  equality.

 $s_1, \ldots, x_k := s_k] \in B^*$  for any  $(\Gamma_i \triangleright s_i) \in A_i^*$ holds in the canonical model for the normal form theorem. Then from the completeness theorem  $(x_i : A_i \triangleright x_i) \in A_i^*$  and  $B^* \subseteq [\![B]\!]_W$ , we have  $(x_1 : A_1, \ldots, x_k : A_k \triangleright s) \in [\![B]\!]_W$ . Thus there is a term t in normal form such that  $s \simeq t$ .

**Remark 3.3.1** We need contexts even if we consider only the implicational fragment. If we do not consider contexts, in order to show  $B^* \to C^* \subseteq [\![B \to C]\!]$ , we should show that for any  $t \in B^*$ , if  $E^{\to}(s,t) \in C^*$  then  $s \in [\![B \to C]\!]$ .

Let  $B \equiv R, C \equiv Q, s \equiv \lambda z. E^{\rightarrow}(z, w), t \equiv E^{\rightarrow}(x, y)$  for atomic types R, Q and variable terms x, y, z, w. Then we have  $E^{\rightarrow}(s, t) \equiv E^{\rightarrow}(\lambda z. E^{\rightarrow}(z, w), E^{\rightarrow}(x, y)) \in \llbracket Q \rrbracket$  and  $t \equiv E^{\rightarrow}(x, y) \in \llbracket R \rrbracket$ , however  $s \equiv \lambda z. E^{\rightarrow}(z, w) \notin \llbracket R \rightarrow Q \rrbracket$  since  $s \equiv \lambda z. E^{\rightarrow}(z, w)$  should have type of the form  $(X \rightarrow Y) \rightarrow Y$ .

Further we have  $s \equiv \lambda z. E^{\rightarrow}(z, w) \in R^* \rightarrow Q^*$ . In order to show this, we should show that for any  $u \in \llbracket R \rrbracket$ ,  $E^{\rightarrow}(\lambda z. E^{\rightarrow}(z, w), u) \in \llbracket Q \rrbracket$ . Let  $u \in \llbracket R \rrbracket$ , then u has type R, hence u has any type. On the other hand, the variable term w also has any type. Hence  $E^{\rightarrow}(u, w) \in \llbracket Q \rrbracket$ . Since  $\llbracket Q \rrbracket$  is closed under  $\simeq$ , we have  $E^{\rightarrow}(\lambda z. E^{\rightarrow}(z, w), u) \in \llbracket Q \rrbracket$ . Hence  $s \equiv \lambda z. E^{\rightarrow}(z, w) \in R^* \rightarrow Q^*$ .

## 4 An Extension to a stronger form of the normalization theorem

By modifying the above argument for soundness and completeness with respect to phase semantics for proofs, we can also show the weak normalization theorem of the form: if a  $\lambda$ -term s is typable, then s is reducible to a normal form. This form of the weak normalization theorem is proved by making the following small changes for the definition of semantics and for the completeness argument of Section 3: • For the definition of semantics, the closure condition of the form

if  $s \in \alpha^c$  and  $s \simeq t$ , then  $t \in \alpha^c$ is replaced with if  $s \in \alpha^c$  and  $s \leftarrow t$ , then  $t \in \alpha^c$ , here  $s \leftarrow t$  means t can be obtained from s by one step expansion.

For the completeness argument, the definition of outer-values is replaced by
[[A]]<sub>T</sub> = {(Γ ▷ s)|s is reducible to some t such that Γ ⊢ t : A},
[[A]]<sub>W</sub> = {(Γ ▷ s)|s is reducible to some t in normal form such that Γ ⊢ t : A}.

Then we can show the above form of the weak normalization theorem by almost the same argument as that of Section 3.

As for the type assignment system, we need the  $\eta$ -rule in order to prove the completeness theorem in Section 3. However, in the above setting, the  $\eta$ -rule is not needed.

## References

- [Abrusci 90] V. Michele Abrusci, Sequent calculus for intuitionistic linear propositional logic, *Mathematical Logic*, Plenum, New York, 1990, 223-242.
- [Barendregt 92] Henk Barendregt, Lambda Calculi with Types, Handbook of Logic in Computer Science, vol. 1 and 2, Abramsky, Gabbay and Maibaum eds., Oxford University Press, 1992.
- [Barendregt 84] Henk Barendregt, The Lambda Calculus: Its Syntax and Semantics, North Holland, Amsterdam, 1984.
- [Church 40] A. Church, A formulation of the simple theory of types, *Journal of Symbolic Logic*, 5, 56-68, 1940.

- [Curry-Feys 58] H.B.Curry and R.Feys, Combinatory logic, North-Holland, Amsterdam, 1958.
- [Curry 34] H.B. Curry, Functionality in combinatory logic, in *Proceedings of National* Academy of Science USA, vol. 20, 584-590, 1934.
- [Gallier 98] Jean H. Gallier, Typing untyped  $\lambda$ -terms, or reducibility strikes again!, Annals of Pure and Applied Logic 91, 231-270, 1998.
- [Gallier 95] Jean H. Gallier, Proving Properties of Typed lambda-Terms Using Realizability, Covers, and Sheaves, *Theoretical Computer Science*, 142(2), 299-368, 1995.
- [Gallier 90] Jean H. Gallier, On Girard's "Candidats de Reductibilité", in *Logic and Computer Science*, ed. Odifreddi, Academic Press, 123-203, 1990.
- [Gentzen 35] G. Gentzen, Investigations into logical deduction, in *The Collected Papers* of Gerhart Gentzen, translated by M. Szabo, North-Holland, 68-131, 1969, Untersuchungen über das logische Schliessen, *Mathema*tische Zeitschrift, 39(1935), 176-210, 405-431.
- [Ghilezan-Likavec 02] Silvia Ghilezan and Silvia Likavec, Reducibility: a ubiquitous method in lambda calculus with intersection types, Electronic Notes in Theoretical Computer Science, 70 (1), 2002.
- [Girard 95] Jean-Yves Girard, Linear Logic: its syntax and semantics, in Advances in Linear Logic, Girard, Lafont, Regnier eds., Cambridge University Press, 1995.
- [Girard-Taylor-Lafont 89] Jean-Yves Girard, P. Taylor, and Yves Lafont, *Proofs and Types*, Cambridge University Press, 1989.
- [Girard 87] Jean-Yves Girard, Linear Logic, Theoretical Computer Science, 50, 1987.

- [Girard 72] Jean-Yves Girard, Interprétation Fonctionelle et Elimination des Compures de l'Arithmetic d'Ordre Supérieur, thèse de doctorat, Université Paris VII, 1972.
- [Howard 80] W. A. Howard, The formulae-astypes notion of construction, in J. P. Seldin and J. R. Hindley eds, To H. B. Curry: Essays on Combinatory Logic, Lambda Calculus and Formalism, Academic Press, 479-490, 1980.
- [Kanovich-Okada-Scedrov 03] Max I. Kanovich, Mitsuhiro Okada, Andre Scedrov, Phase Semantics for Light Linear Logic, *Theoretical Computer Science*, 294, 2003, 525-549.
- [Lafont 97] Yves Lafont, The finite model property for various fragments of linear logic, *Journal of Symbolic Logic*, 62, 1997, 1202-1208.
- [Martin-Löf 71] P. Martin-Löf, Hauptsatz for the intuitionistic theory of iterated inductive definitions, in J. E. Fenstad ed., Proceedings of the Second Scandinabian Logic Symposium, North-Holland, 1971, 179-216.
- [Mitchell 90] John C. Mitchell, Type Systems for Programming Languages, Handbook of Theoretical Computer Science, volume B, 365-458, 1990.
- [Okada 02] Mitsuhiro Okada, A Uniform semantic proof for cut-elimination and completeness of various first and higher order logics, *Theoretical Computer Science*, vol. 281, 2002, 471-498.
- [Okada-Terui 99] Mitsuhiro Okada and Kazushige Terui, The Finite Model Property for Various Fragments of Intuitionistic Linear Logic, *Journal of Symbolic Logic*, 64, 1999, 790-802.
- [Okada 99] Mitsuhiro Okada, Phase semantic cut-elimination and normalization proofs of

first- and higher-order linear logic, *Theoretical Computer Science*, vol. 227, 1999, 333-396.

- [Okada 98] Mitsuhiro Okada, Introduction to Linear Logic: Phase Semantics and Expressiveness, in *Theory of Types and Proofs*, eds.
  M. Dezani, M. Okada, M. Takahashi, Memoir of Mathematical Society of Japan, vol.2, 1998, 255-295, 2nd revised edition 1999.
- [Okada 96] Mitsuhiro Okada, Phase semantics for higher order completeness, cutelimination and normalization proofs (Extended Abstract), Electronic Notes in *Theoretical Computer Science*, 3, 22, 1996.
- [Prawitz 71] Dag Prawitz, Ideas and results in proof theory, in Jens E. Fenstad ed., Proceedings of the Second Scandianvian Logic Symposium, 235-307, North Holland, Amsterdam, 1971.
- [Tait 75] William W. Tait, A realizability interpretation of the theory of species, in R. Parikh ed., *Logic Colloquium Boston* 1971/72, vol. 453 of Lecture Notes in Mathematics, Springer Verlag, 240-251, 1975.
- [Tait 67] William W. Tait, Intensional interpretation of functionals of finite type I, *Jour*nal of Symbolic Logic, 32(2), 198-223, 1967.
- [Troelstra 92] A. S. Troelstra, Lectures on Linear Logic, CSLI Lecture Notes, 1992, vol. 29, Stanford.
- [Yokouchi 98] Hirofumi Yokouchi, Syntax and Semantics of Type Assignment Systems, *MSJ Memoirs*, vol.2, 1998, 99-141.